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\setlenth{\unitlength}{0.1in}
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\begin{picturel}(50,70)
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\put (25,25) {\1ine(1,2){25}}
\put (25,25){\1line(-1,-1){20}}
\put (25,25){\1ine (0,1){35}}
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\put (25,25){\vector(1,2){25}}
\put (25,25) {\vector(-1,-1){20}}
\put (25,25){\vector(0,1){35}}
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\put (25,25) {\circle{30}}
\put (25,25){\circle{15}}
\put (15,60) {\circlex{10}}
\put (25,60) {\circle{20}}

\put (25,60) {\circle*{1}}
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\put (10,25) {\oval (10,20)}
\put (25,50) {\oval(50,30)}
\put (35,15){\oval(10,10)}
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\put (25,50){\oval(30,20) [t]}
\put (25,50) {\oval(40,20) [b]}
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\put (25,50) {\oval (25,15) [t1]1}
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\multiput
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... \linethickness{0.2mm}

\multiput (0, 0) (1, 0){51}{%

\line(0, 1){20}}
... \linethickness{0.4mm}

\multiput (0, 0) (5, 0){11}{%
\line(0, 1){20}}
... \linethickness{.8mm}

\multiput (5, 0) (10, 0){5}{%
\line(0, 1){20}}
\multiput(10,25) (5,5){8}{\circle{10}]
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\usepackage{graphpap}

\graphpaper (x1,y1) (x2,y2)
\graphpaper [2+ 7FA] (x1,y1) (x2,y2)
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\setlength\unitlength{1ipt}
\begin{picture}(80,25) (-20,-20)
\graphpaper [5] (-10,-10) (80,25)
\end{picture}
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\setlength\unitlength{imm}
\begin{picture}(45,20)
\graphpaper [2] (0,0) (45,20)
\end{picture}
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\setlength{\unitlength}{5cm}

\begin{picture}(1, 1)
\put (0, 0){\1line(O,
\put (0, 0){\line(1,
\put (0, 0){\line(1,
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\put (0, 0){\line(5,

\put (0, 0){\line(6,
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 test.pdl - Adobe Reader EEX
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\setlength{\unitlength}{5cm}
\begin{picture}(1, 1)
\put (0, 0){\line(0, 1){1}}
\put (0, 0){\line(1, 0){1}}
\put (0, 0){\line(1, 1){1}}
\put (0, 0){\line(1, 2){.5}}
\put (0, 0){\line(1, 3){.33333}}

\put (0, 0){\line(5, 6){.8333}}

\put (0, 0){\line(6, 1){1}}

\put (0, 0){\line(6, 5){1}}
\end{picture}
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\grid
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\matrixput
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\drawline &

\put (0,0){\tiny \grid(50,70)(5,5) [0,0]}

\matrixput (0,0) (10,0){63}(0,10){3}{%
\circle{4}}
\linethickness{1t}
\matrixput(2,0) (10,0){5}(0,10){3}{%
\line(1,0){6}}
\matrixput (0,2) (10,0){63}(0,10){2}{%
\line(0,1){6}}
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@ \drawline Cfj4l \path
o AZE2Rl=M:\spline
o Et:\ellipse, \ellipsex*

@ &:\arc
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@ \curve
@ \closedcurve

@ \tagcurve
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\put (0,0){%
\closecurve(15,20,35,35,30,20)}

\put (0,0){\curve(0,0,15,50,50,0) }
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@ picture BF9| oA S S5t = 22t =S Yoigst 7| 4|

e WTEX: A Document Preparation System, 2nd Ed.O{|AM S5 (1993)

11 H2H| SA 2 H (2003)
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7127]= M2A7}OML|O|E ABS — —1000 < (x,y) < 1000

M AR7I A% A

SHHE DQF MEH b (ltxarrows/ pstarrows)
\maxovalrad: 22| 2 M2| S=2|7| Zt A0
\cbezier: 78] HX|0] HE (< \bezier, \gbezier)
{Hetsi \arc HH
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\setlength{\unitlength}{.5mm}

\begin{picture}(80,50) (30,30)

\begin{picture}(80,50) (30,30)

\put (40,0) {\1ine (966,259) {20} }
\put (40,0){\1ine(866,500){25}}
\put (40,0){\1ine(707,707){30}}
\put (40,0) {\1ine (500,866) {35} }
\put (40,0){\1ine(259,966){25}}
\color{DarkRed}

\put (80,0) {\1ine (966,259) {25} }
\put (80,0){\1ine(866,500){25}}
\put (80,0){\1ine(707,707){25}}
\put (80,0) {\1ine (500,866) {25} }
\put (80,0){\1ine(259,966){25}}
\end{picture}

\end{picture}



pict2e f+&5t7|V

-

N

(o,

7

@ ovall 2 A2 24

\begin{picture}(100,100)%
\thinlines

\put (0,0) {\framebox (100,100) {}}
\put (50,50) {\oval(80,80) 3}

\put (50,50) {\oval(70,70) [t1]}
\put (50,50){\oval(70,70) [brl}
\thicklines

\put (50,50) {\oval(60,60) [tr]l}
\put (50,50){\oval(60,60) [b1]}
\put (50,50) {\oval (50,50) [11}
\put (50,50) {\oval(40,40) [r]}
\linethickness{2mm} \color{red}
\put (50,50){\oval(30,30) [t]}
\put (50,50) {\oval(20,20) [b]}
\end{picture}
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\put (50,42) {\circle*{2}}

/\ \put (51,43){\tiny1}

\gbezier(0,0) (50,42) (100,20)
\gbezier[10] (0,20) (50,52) (100,30)

% cubic bezier
\put (30,80) {\circle*{2}} \put(31,81){\tinya} @ T4 HIZ0HE
\put (70,0) {\circlex{2}} \put(71,1){\tiny5} ‘

\cbezier (0,0) (30,80) (70,0) (100,20) 3
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o \LINE(x1,y1) (x2,y2):F &S 1 0|o{tHH!
o \VECTOR(x1,y1) (x2,y2)
o ZtChsHZI\Arc B \Arc(0,0) (1,0){45} =
e \Curve: @&kt =234

o \cbezier: 74l HZ|0{ 7{E (<= \bezier, \gbezier)
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\setlength\unitlength{lcm}
\\// \begin{picture}(5,5) (0.,0.)
\Curve(2.5,0)<0,1>(5,3.5)<0,1>%

(2.5,3.5)<-.5,-1>[-.5,11%
\ / (0,3.5)<0,-1>(2.5,0)<0,-1>
\color{SteelBlue}
\thinlines
\put (0,0){\1ine(0,5){5}}
\put (0,0){\1line(5,0){5}}
\/ \put (5,0){\Line(0,5)}
\put (0,5){\1ine(1,0){5}}
\end{picture}
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\setlength\unitlength{1lcm}
\begin{picture}(5,5) (0.,0.)
\Curve(2.5,0.0)<0,1>(3.0,1.5)<1,1>%
(5.0,2.5)<1,0>[-1,0](3.0,3.5)<-1,1>%
(2.5,5.0)<0,1>[0,-1]1(2.,3.5)<-1,-1>%
(0.0,2.5)<-1,0>[1,0](2.,1.5)<1,-1>%
(2.5,0.0)<0,-1>

\color{SteelBlue}

\thinlines

\put (0,0){\1ine(0,5){5}}

\put (0,0){\1ine(5,0){5}}

\put (5,0){\Line(0,5)}

\put (0,5){\1ine(5,0){5}}
\end{picture}
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\setlength\unitlength{lcm}
\begin{picture}(2.5,5) (-2.5,-2.5)
\DividE 360pt by 12pt to\Twelfth
\DirFromAngle\Twelfth to\Dir
\CopyVect -2.5,0 to\Vzero
\MultVect\Vzero by\Dir to\Vone \MultVect\Vone bj
\Arc(0.0,0.0) (\Vzero) {30}
\Arc(0.0,0.0) (\Vone) {30}
\VectorArc(0.0,0.0) (\Vtwo){-30}
\color{SteelBlue}
\MultVect\Vzero by*\Dir to\Vmone \MultVect\Vmc
\Arc(0.0,0.0) (\Vzero){-30} \Arc(0.0,0.0) (\Vmone
\VectorARC(0.0,0.0) (\Vmtwo) {30}
\color{ForestGreen}\thinlines
\VECTOR(0,0) (\Vzero)
\VECTOR(0,0) (\Vone) \VECTOR(0,0) (\Vmone)
\VECTOR (0,0) (\Vtwo) \VECTOR(0,0) (\Vmtwo)
\end{picture}
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\setlength\unitlength{icm}
\begin{picture}(8,4) (0,-1.5)
% \put(0,-1.5){\Vector(0,1){4}}
\VECTOR(0,-1.5) (0,2.5)
\put (0,0){\Vector(8,0)}
\put(7.8,-.4){$\theta$}
\put (-0.1,1) {\makebox(0,0) [r]1{$1$}}% 1
\put (-0.1,0){\makebox(0,0) [r]1{$0$}}% 1
\put (-0.1,-1){\makebox (0,0) [r]{$-1$}}% -1
\put(2.9,-0.3){$\pi$}% pi
\put (6.23,-0.3){$2\pi$}} 2 pi
\color{Gray!50}
\put (0,1){\1line(1,0){6.23}} \put (0,-1){\Line(6.23,0)}
\thicklines % S{M2 07|
\color{DarkRed}\put(0.1,1.1){$\cos\theta$}
\Curve(0,1)<1,0>(1.570796,0)<1,-1>%
(3.1415924,-1)<1,0>(6.283185,1)<1,0>%
\color{SteelBlue}\put(1.65,1.1){$\sin\theta$}
\Curve(0,0)<1,1>(1.570796,1)<1,0>%
(4.712389,-1)<1,0>(6.283185,0)<1,1>%
\end{picture}
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